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2.. ' A mcke‘f fpr Jdfe  in e’eb)p _gfq_ee )’s ')(o be cq?a ble 0+ loao_c'lfn&_’
a total lead CP“‘I Loa & f)us rocket drave and engiue > ot
e 3.00 ’Me{‘n‘c “ons +o o .(lozai of 4QOOO wv./s

é\) I+ 1'»;4 awn Cn(‘:iwe aw\A —fucl a‘esl‘fnza( *}v ond.oce awn fo\un+
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the -fFuA ‘s .

_ (V-Vo /v,
M(VY = Mo € ' 2> .

:FYOM Ee, (2>, we notice That +the fofal mass @um(.)
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2. A cawmon S r:‘%.'.,l,gr 4H'aa{,‘¢ol + a aarrl'a&e , which com
Wove a[Ow(; Morf‘bon"‘ﬂ\— Y‘GIIL.C bd’l'n‘.f cnneeted 4o o Ta_c‘)l‘
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5. The QSJCMé‘V) v .ﬁ‘ﬁ S.17 )y nade with macslegs
steings attached 4o balls . Ball A (wm=o02fke )
/s fe/cq.f‘c.ri frowm l’\ebkl’\—f 0.2 m abore ball I3 (M:
05"%) O\l&o a"L rm7l . TL\Q_ *‘/‘wo leAcreo awn e{AJHL:'c
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Wha+ X }n(/zsly‘f‘ c!ow eaet Le.L[ 46&1'3\/2 a..'L-,‘,r ao/Lftfl‘OV)')
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é) = 0.5881
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F“g’ s BGHR:) I’CE - 0
Pe = o

There /1 0.5887 ot e"”é'] ' Thie S‘u,:-ﬁom Hlat s T remaing
ConstamT @ evers H—cf. Jurt bepove collision:
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Now we Jo’we 4ovr VQ ' /I) Am( F/ch ,‘1[ /‘vmlu (2) mr{ .ralu-(,
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2
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The ne;,a%‘w, vsg[op.—\‘-v\ § correct becavase it s clear that the
ball will net reboond with a greater vel.oM‘Jru\ Hean it ctorted

with in e same dincchion
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